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I. Compréhension écrite

Complétez le texte avec les mots : copain, parents, maison, bizarre, bruits. -
Moi, j’ai peur de rester seul a la........... ! Quand mes........... sortent, je ne sais pas quoi faire. J’essaie d’inviter un........... a

la maison ou d’aller chez quelqu’un, mais ce n’est pas toujours possible. Quand je suis seul, je ne peux me concentrer sur

rien, je commence a entendre des.......... J’ai honte, parce qu’a 15 ans, ¢’est un peu............. ,non? Mais je ne peux pas I’éviter.

Il. Vocabulaire

Soulignez les intrus.

Example : argent cuivre or fer agent
1. matinée journée musée idée rentrée
2. dimanche printemps été automne hiver
3. boulangerie boucherie patisserie librairie charcuterie
4. rapidement développement  lentement calmement doucement
5. pére meére frere seeur voisin
6. Laos " Russie Cambodge Thailande Vietnam
7. poitrine téte bras docteur jambe

lll. Grammaire

A. Répondez par “Si”, “Oui” ou “Non”.

Example: Vous n’étes pas fatigués? Sereessisseians , hous sommes tres fatigués.
- Si, nous sommes tres fatigués.

1. Tu es Francais? - ..........c.cccco..... , je suis Cambodgien.

2. Tu ne mange pas de riz? - ..o , je mange du riz.

3. Est-ce que tes parents sont a Phnom Penh. - ... , ils sont a Phnom Penh.

B. Reliez les phrases A et B selon I’exemple

Adie SEL B G
1. Elle amal a la gorge. | a. Elle ne peut pas marcher. l—»-d
2. Elle a mal a la main. b. Elle ne peut pas s’assoir. 22— ...
3. Elle a mal au pied. c. Elle ne peut pas réfléchir. | 3— ...
4. Elle a mal aux yeux. | d. Elle ne peut pas manger. | 4— ...
5. Elle a mal & la fesse. | € Elle ne peut pas écrire. 5 ..
6. Elle a mal 4 la téte. f. Elle ne peut pas courir. 66— ...

g. Elle ne peut pas lire.

IV. Expression écrite

Apreés I’examen du baccalauréat, qu’est-ce que vous faites? Ecrivez environ 70 mots.
Baréme de notation

I. Compréhension écrite

- maison
- parents
- copain
- bruits

- bizarre
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Il. Vocabulaire

. musée

. dimanche

. librairie

. développement
. voisin

. Russie

. docteur

AN W=

Grammaire

IV. Expression écrite

1. Respect de la consigne
2. Vocabulaire

3. Richesse des idées

4. Grammaire

5. Cohérence

76
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I. Reading.

Read the text and fill the gaps with the words in the box.
Gap one has been done as an example.

(0 ) economics
() money () promoted
() presenters () was
() fewmonths ( )job

( )television = () department

() waitress
(- ) applied

A working life

Well T studied (0) ...economics...at university, and then I
was lucky because I got a (1) ......... very quickly as an
accountant in a local (2) store. It wasn’t exactly
what I wanted, but, you know, it was a first job. I stayed
there for four years altogether. After three years I was (3)
......... to accounts manager, and I stayed in that job for a
year, but then I really got bored, so I decided to leave and I
(%) .ivinnnins for other jobs in the area. But I had no luck
getting a second job at all, and I was very short of (5)
......... , 80 in the end I had to get a job working as a (6)
in a restaurant. Well it wasn’t very successful
because I'm quite clumsy you see and I kept dropping
things, so I after a few weeks they gave me a sack. And
then, just by chance I met an old friend who I (7) .........
at university with, and he was working in (8) ......... And
he got me a job as a television researcher on a programme
called “Business Today”. And after a (9) really
they decided that they wanted younger (10) ......... of the
programme, and I got a job and I love it.

Il. Grammar.

There are four answers after each statement. Only one

answer is correct. Choose the correct letter a, b, ¢, or d.

The first one was done as an example for you.

Example: You must have something to eat before...b......

to school.

a- go b- going c- to go d- of go

1. Mr. Kimseng can’t talk on the phone because he...........

dinner right now.

a- is eating b- eats
c- has eaten d- has been eating
2. That little girl........... for the last two days.

a- hasn’t eaten b- doesn’t eat

c- isn’t eating d- has eaten
3. Several trees fell down last night.........the strong wind.
a- because b-so c-since  d-because of
4.1 hope you..........us when you come here.
a- visited b- would visit

PATGNAN[RY MATERAN{AIIRY
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d- will visit
5. 1If she doesn’t do her homework, she...........punished.

c- visitting

a- is b- would be c- will be d- will have

lil. Vocabulary.

There are four answers after each statement. Only one
answer is correct. Choose the correct letter a, b, ¢, or d.
The first one was done as an example for you.

Example: He ...c.. that he still loves his daughter.

a- tells b- speaks c- says b- told
1. ’m really......... of my child who first prize in the art
competition.

a- pleased b~ proud c- happy d- delighted
2. In recent years inflection has almost double the .........
of living.

a- cost b- expense  c- charge d- price

3. The restaurant services are bad, so we should write a
......... to the manager.

a- essay b- message

c- complaint d- information
4., The plane was delayed by fog, and so I ......... my con-
nection.

a- lost b-abandoned c- forgot d-missed

5. She went to the library to.........
a- borrow a book b- lend a book
c- let a book d- hire a book

IV. Writing.

Write an essay in English at least 80 words about. “Your

goal in the future”.

FIRNAMBRIHOIGES

I. Reading.

1.job 6. waitress

2. department 7. was

3. promoted 8. television

4. applied 9. few months

5. money 10. presenters
Il. Grammar.

l.a 4.d

2.a 5.¢

3.d
lll. Vocabulary.

I.b 4.d

2.a 5.a

3.¢c
IV. Writing.

1. Content 2. Grammar 3. Spelling
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SELLING:
textbooks , teacher’s manuals ,
workbooks , supplementary readers ,

teaching-aids and stationary !
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